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I. 21 mwn: maximum amount of different seeds that can be planted in a single vegetable bed of 6x6 n'nav
a. Maximum: 5 -1 on each corner and one in the middle, per n>y1r (v. 1)
b.  Explanation (7772 27): 0m +1; amnx+ 1 poyr+2; mpxn+1=5
i. And: non held that 5 different seeds within 6 Dnav don’t nurture from each other’s earth
1. Question: how do we know that o'nan’s “tradition” about nurturing is reliable?
2. Answer (13112 73): v. 2 — the early ones knew about land and we should not violate that
a.  Early ones: refers to v. 3, who knew the land and understood where to plant which plant
i. Called: "»1n” as they would smell the land and decide what to plant
1. 3py7 72 81K ’7. they became nobles ("0 »11”) as a result of their talent with the land
ii. Called: “»n” as they would lick the dirt like a snake (%)
II. Various details about the nary (vegetable bed) vis-a-vis nx%3
a. ’oN 27 the 6 »'nav do not include the border (support from xn»12)
i Size of border: "1 *27 — width of a foot
1. Source (87r77): v. 4 —just as a foot is a nav wide, similarly a boundary is a nav wide
b. 27 our mwn is only referring to a case of an isolated bed in an otherwise fallow area
i. (but: if there are other beds adjacent, cannot plant as much, as the neighboring seeds mix)
ii. Challenge: if so, why limit to 5? Could also plant on n7p Dipn (between the corners)
1. Answer: in this case, he filled each side
2. Challenge: then why not just plant outside the n»7y and plant on the sides (n1p)?
a. Answer: it is a precaution against him filling in the mp
b. Challenge: why not allow it under rubric of "n wx1” (23 ©RY3) — which, if it enters another
planted area, is permissible as it looks like the end of another field
i. Answer: there is no "1'n WRY” in a vegetable bed
c.  SNmpw our mwn is referring to an Ny among others
i. Challenge: the seeds mix (with the neighboring bed)
ii. Answer: he bends each row in a direction away from the other
II. ®9Y’s report of the question asked in »”x: if he plowed (1 of the 5 or a 6') across the nn1y, does it make it MOR?
a. nww 1 it makes it 19OR — the mix cancels the ordered nny
b. swx ' doesn’t make it 17OR — the mix does not cancel the ordered nnvy
i. Challenge (815 87227): 1:3 XY — if one plants 2 rows of cucumbers, 2 of gourds and 2 of beans — 7 mn
1. But: 1 row of each is 1moR (>the seeds ranging through the n»1y should make it all MoR)
2. Answer: that case is different — those species have leaves and stalks that will entangle with each other
IV. 1nv "7’s rule: if someone wants to plant his entire garden with various vegetables (without leaving space)
a. Hemay: make 6x6 beds and make 5 circles inside and plant each circle with one kind
i. Challenge: the seeds between the circles intermingle
1. Answer (’8 77 237): he leaves those areas fallow
2. Answer (»wx 77): if those are planted lengthwise, he plants width-wise (and vice-versa)
a.  Challenge (8”75 82227): 1:1 WRY RNavIN —space needed for working on vegetables is 6 nnav

i And: we envision them as a rectangular space (2 circles are invalid for this proximity)
ii. Answer (?wx ’7): that was only said to be lenient in another way —

1. Leniency: to allow a ' wRA (pointy end) of one of the rectangles to protrude into another
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